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DARM Open Loop Gain: G (ZOOM)
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DARM Closed Loop Gain: 1/(1+G)

i l
0= H1 20240927T2116122
fo2;| = L120240408T2006527
——/
/
A
0 oo 1000
180
135
90
45
0
_45
-90
-135 /\
~180 = F £ 99
0.1 i 0 100 1000

Frequency [Hz]




Magnitude

Phase [deq]

-135
-180

DARM Closed Loop Gain: 1/(1+G) (ZOOM)

i == — e e
%:
" H1 20240927T2116127
| = L1 20240408T200652Z
| | 50 100
| 50 100

Frequency [Hz]



Magnitude

Phase [deg]

DARM Digital Filter: D
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Optical Plant Response: C

=—— =

/

109}

108}

107}

108

= H1 20240927T7211612Z

10°

4

= |1 20240408T200652Z

0.1

10 100 1000

180
135:

i

~135.
180

0.1

10 100 1000
Frequency [Hz]



Magnitude

Phase [deq]

{K-18¢
{K-19¢
{K-20¢
10-21¢
{X_oo¢
{K-23¢
{K_24¢
{K-o5¢
{K-26¢

Act. stage strength

1n-10¢ 7N 1 [

10-11% = H1 20240927T211612Z UIM
{n-12¢ T N =
: E s Nea = H1 20240927T211612Z PUM
1R-15¢ e = H1{ 20240927T211612Z TST |
10715+ = |1 20240408T200652Z UIM

= L1 20240408T200652Z PUM
= |1 20240408T200652Z TST ||

0.1

10

100 1000

180 ey

135:

135

10

Frequency [Hz]

100 1000




Magnitude
— b — — — — — — —
Cooccoooo

|
O ©CONOURARWN—_O—_ND®A

Phase [deg]

Act. stage digital filters
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Act. stage LOCK_IN to Displ. (low zoom)

e A e

E = H120240927T211612Z UIM

r = H120240927T211612Z PUM%
i = H120240927T211612Z TST L S
: = H120240927T211612Z Total QT

r = |1 20240408T200652Z UIM =

r = L120240408T200652Z PUM

I = L120240408T200652Z TST

| = 1. 20240408T200652Z Total

1 1 10 100

Frequency [Hz]



Act. stage LOCK_IN to Displ. (high zoom)
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Act. stage DARM_IN to Disp. (D*A)
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